<o @> (rad)

< 00, > (M)

<opyp, > ()

Ratio

o
N
X
=
o
&
(=
N
X
=
o
&

o
=
a1

< o cot(y) >
o
=
a1

.............................................

o
[y
o
Py

~0.05f -+t eeeeeff el SR —0.05f -+ +-teefee[Ereeeeb e
O R S 11 B AR SRS 51 RS T S SN S0 PO P RIS

PN PP I AP | A I T 0_0_25....|....|....|....i....i....
S LA £ e SRR S AT
: : i i i t 2 S U EE
0.5+ b R E 4
E k 05E----- 1 4 TR
ot . s L L L 0: . L L L L
-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

_MKFIT5_QCDHIgNPT_base
_mkFit5_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epoch4
_mkFit6_QCDHighPt_base
mkFit6_QCDHighPt_retrainOldFiles125 v2 prelimWPM_epoch4

100: : : : : ! g 100

E TN RN (g 2 e

<4

o ™
o O
[

3

N
o
I

20— ML FLAE - A 20

(RN AN LR RN LR RN RERN R
%

(k=]
[¢V LR LR B L

3 2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

5: s
=
3 |-
o
E I R IR AR S
oF AR T
B T S
-2F o=
—3;— L . A
"3 MLEHT L
=5+

£ -
0sf- " = B
oL RIIRINNRILE L2

TP n (PCA- to beamline)



	Contents
	Page 1


